— |

IMPORTANT | wewaqof :

Candidates have to do questions 31 to 99 EITHER from Part - Il (Mathematics and Science) OR from
Part - 111 (Social Studies / Social Science),

wdigmriar & ge 31 ﬁ'.‘?ﬂi’?fa?amr-n A ot
) & a0 ) (ot & ferar ) ar 9T - 111 (@A 37eaa7 /

PART - 1l / 411 - 111
SOCIAL STUDIES / SOCIAL SCIENCE - THITH 31eqa / araifors s

Direction : Answer the Jollowing questions ' ] .
; Y selecting the correct/most appropriate options.
fayr : ﬁwﬁféﬁm%mﬁ%mwﬁ/ﬂaﬁmﬁww:
31. Which of the following statements is/are correct about planets ?
(A)  They are lit by the light of the stars.
(B) They are made up of only rocks.
(€) All planets have their moons.

Options :
(1) Only (B) and (C) (2) Al (A), (B) and (C)
(3) Only (A) (4) Only (A) and (B)

Tl % ai H frefefad § § s/ s ud 2
(A) TR F THY ¥ THRE B S

(B) 9 Fod 9gHi ¥ I B T

(C) T T2 & 794 dic B & |

fa&ea :
(1) <5 (B) T (C) (2)  (A), (B) A& (C) Teft
(3) Fad (A) (4) IS (A) A (B)

32. Who among the following worked with leather workers in Central India and also started Satnami

Movement ?

(1) Haridas Thakur (2) U.B. Phadke (3) Jyotirao Phule (4) Ghasidas
frfeiad 4 9 fohed 7ea 9Rd § =HS 1 A & el & e 6 fha qen o ider S Jwei
4t & ?

(1) #{R_ME 3F 2) gl HSh (3) wfaE T (4) =ERE

33. What type of winds are Land and Sea breeze ?

(1) Seasonal winds (2) Permanent winds
(3) Cyclone (4)  Local winds
ford e 1 ve, el Ud THgE THR Bt € 2
(1) daH g9 (2) T qo
(3) A (4) T e
S T i v
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34. Match the following and choose the appropriate option.

A B
(a)  Punch marked coins ()  Stamped glazed pottery
(b)  Northern Black polished ware ()  Tall double handled jars
() Amphorae (iii) Extremely fine pottery
(d)  Arretine ware (iv) Stamped with symbols using dyes

O @0 ®) - @), ©- i), @)- (2 - (iv), (b) - (i), (c) - (iii), () - (ii
O @-.0-0,0- @), @- @) @ @- (iv), (b) - (iid), (c) - (i), (d) - (i)
FeTfafes 1 g i qen ST forehe 1 99 Fif -

A B
(@) 3meq foss () e o HER A |
© Twm (i) gt 3 g & ey ik g A
(d) WA I (iv) ST % weim & fof % v o 7w

@) @ - @), () - (i), () - (i), (d) - (1) @ @- @), ®)- @) (© - @), (d) - @)
@) @- @), (®)- () (- (i), (d) - (i) @) @) - @), ©) - (i), (©) - (i), () - (@)

35. According to the Uttaramerur inscription, who could become a member of a Sabha ? |
(A) The owners of land from which land revenue is collected.
(B) They should be between 25 and 70 years of age.
(C) They should have their own houses. i
(D) They should have knowledge of the Vedas. f

Options : . |
(1) Only (A) and (D) (2)  Only (A), (C) and (D)
(3) Only (A) (4)  Only (A) and (B)

ITHE A F AR U1 F1 939 FF 2 T 912
(A) TH 4" 1 @ T q ErsE awen s

(B) =1 39 25 3R 70 % & BT =ifaw |

(C) 7% 99 A9 =1 21 =feu |

(D) 2% 92l %1 91 #r1 =feu |

fawq : I
(1) %ad (A) 4R (D) (2) Fad (A), (€) 3R (D)
(3) *ad (A) (4) %ad (A) R (B)

P-11 mmll"m"'l'l"l”l ne G g ned with OKEN Scanner
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(1) Asphalt of roads
(2) Crowded high rise buildings

Insolation or Incoming Solar Radiation
(4) Seasons

4) =

37. Read the statements (A) and (R) carefully and choose the correct option.
(A) : Using resources carefully and giving them time to get renewed is called resource conservation.

(R) : Balancing the need to use resources and also conserve them for the future is called sustainable
development.

Options :

(1) (A) is true but (R) is false.

(2) (A) is false but (R) is true.

(3) Both the statements (A) and (R) are true and (R) explains (A).

(4) Both the statements (A) and (R) are true but (R) does not explain (A).
AT (A) 91 (R) 1 4 § 9 a1 frfafad § 8 w@l faswed =
(A) : TEEFT FT Faehargde ST FTT AR 3% Felheol % g Foa S, HH1eH HE e €|

(R) : HETHAT b1 ST A F SRl SR Ao o o STk 0 # Hgert S T, Faaoi
ferehTr SHgeml € |

faaey :

(1) (A) @@ & frg (R) To &

(2) (A) T € fig (R) & &

(3) WW(A)@‘(R)H@%W(R),(A)#WW%]
(4) a’m‘fm(A)qﬁ(R)W%M(R),(A)ﬁmaﬁm’él

G
pI WA 7
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38, Which one of the following is incorrect ?
(1) In 1883, there was a furore over the attempt by the Government to introduce the bert |
(2)  The dissatisfaction with British rule intensified.in 18708 and 1880w,
() The Arms Act was passed in 1878, ;Iimtllnwlng "indlnnn from possessing arms,
(1) The Vernacular Press Act was passed in 1880, l? support the Government,

Frefefad ¥ Qi woad a b o ..
(1) 1883 W ST X yewd first W e w1 wr e Ty @ s o oy
) wmaﬁussoa:wtﬁaﬁwwﬁwﬁmhﬂaﬂtmmml

3) 1878ﬁmwmwmwmmﬂqwhﬁmmﬁwmmmﬁwarfum tﬂ#ﬂwf
™ )

(3) TR TH T ¥ R 1880 F orferger Y v it faen T o)

39. Match the following and choose the appropriate bptibn.

A B ™\
(a) Grihapatis () Landless Labourers
(b) Shrenis (i) Independent farmers
() Adimai (iii) Coastal Settlement
(d) Arikamedu (iv) Craft persons

(1) (a) - (1), (b) - (iv), () - (i), (d) - ()
(2) (@) - (i), (b) - (i), (c) - (i), (d) - (iii)
() (@) -(iv), (b) - (i), (c) - (1), (d) - (ii)
4) (@) - (), (b)- (i), (c) - (iv), (d) - (iii)

frefafaa =1 faem s qun Sy fases 99 -

A : @
(a) TE () e T i’!
(b) Fvit () T FED
(c) wfewd (i) @t fam i‘
(d) T (v) RewER
(1) (a) - (iii), (b) - (iv), () - (i), (d) - () “\

(2) (a) = (ii), (b) - (iv), () - (i), (d) - (iii)
(3) (a) - (iv), (b) - (i), (c) - (iii), (d) - (ii)
(4)  (a) - (i), (b) - (i), () - (iv), (d) - (iii)

P11 R P i
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40. Read the statements (A) and
Assertion (A) : Colonial ryle ;
Reason (R):  Theee w;‘: ir::;ad;lced several new art forms, styles and techniques.
Chiocee i oo Vely adapted by Indian artists for local patrons and markets.

(1) (A) is true but (R) is false,

(2)  Both (A) and (R) are false.

3 B
E4; BZi ::: and (R) are true and (R) is the correct explanation of (A).
an'd (R) are true but (R) is not the correct explanation of (A).

fafafies M FfT et w9 3 wied et () (R) 1 -

AHHAT (A) : ﬁﬁﬁﬁﬁﬁ?wﬁﬁm%wwm‘f, Wferal 3 Teheiieh 1 G g |

ST (R) : S IV FETERR] 3 9 T Teehi S A e s 7 v 4

Wt fosed 9+ |

(1) (A) 98 2 &AfH (R) Tom 3|

(2) (A) R (R) IFT 7o €1
(3) (A) 3 (R) I T T 3R (A) 7 (R) T =0 FT T
(4) (A) R (R) T FE T WAHT (A) F (R) TE S T A R |

(R) considering the art forms in colonial India.

41. Neolithic sites are different than Palaeolithic sites because of the following :
(i) Mortars and pestles were used for grinding grains.
(ii) Pots were used for cooking food.
(iii) Cloth was woven using different kinds of material.

(iv) Use of stone tools began.

Choose the correct option.
(1) (i) and (iv) only (2) (), (i) and (iv) only

(3) (i) and (ii) only (4) (), (i) and (iif) only
ﬁwﬁﬁﬁﬁﬁmwﬁﬁwyﬂwwmﬁfﬁ%;
(i) st 3 gEe %1 JEnT S i de & fad fme S e

(i) A B ST G S % ferd fehe ST e

(i) fafir W T <isi @ HUS T ST |

(iv) Tet % 3SR 1 WA SR @ T
& fadeq @1 997 HifT |

(1) *Fa (i) AR (iv)

(3) e (i) S (i)

P-I1 | AR

@ ) @) 3w
(4) e (i), (i) 3 (i

39
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42.

43.

I1

Read the statements (A) and (R) and choose the a

(A) : Raja Rammohan Roy founded a reform association known as the Brahmo Sabha in Calcuttd
(R) : He felt that changes were necessary in suciel;yﬁ’?d unjust practices needed to be done a ay

with.
Options :
(1) (A) is true but (R) is false,
(2)  Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the corr:ict explanation of (A).

(4)  Both (A) and (R) are true but (R) is not the

ﬁqmm(A)Sﬂt(R)aﬁﬁaﬂtmﬁmaﬁ’:
(A) :wmm#mﬁmw%mﬁwwmaqmw
(R) : wmaﬁmﬁqﬁaﬁamaﬂtwm—aﬂﬁﬁmww%s

ﬁ!m:
(1) (A) 58 &% (R) 7o 3
(@) (A) SR (R) 3 Tem €

B) (A aih(k)aﬁ‘fuﬁ%aﬂt(mﬁ(n)ﬂawéfiﬁ%:

PPropriate option,

(N

| e

c.;bz:r\jct explanation of (A).

e

@) () 3 R) 30 1 & o (&) A (R) T e e

to:

Reservation of seats in legislation and in Govemmé’?ﬁobs was granted by the Indian Constitution

(A) Compensate for low grades and marks scored in'School and University examinations, because
of which people were not able to compete.

(B) Compensate for years of historical suppression and educational deprivation,

(C) Appease people for political support and rally as vote banks.

Options :
(1) Both (A) and (C) (2) Both (B) and (C)
(3) Only (A) (4) Only(B)

Wnﬁmmﬁmﬁwﬁmﬁwwﬁ%ﬁimmﬁmw:

T A1 TE 4|

1 Sie 1 sy 2, e g o & < e

(B) =l % ufaeifaes gu4 aon farforen s & Hﬁtﬂﬁﬁgl
(C) 42 4% % = § Torfifas aneda aa1 Yot & fore s = g o ¥

faaeq ; \J

(1) (A) 3R (C) ZFil (2) (B) 3 (C) A
(3) %ad (A) (4) %ad (B)
00000 40
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4.

When it is 1:00 p.m, i
P-m. at Greenwich, what time will it be at 60° West and 60° East respectively ?

(1)  5:00 am. and 9:00 p.m.

f.-
-

(2)  9:00 p.m. and 5:00 a.m.
(3) 5:00 p.m. and 9:00 a.m,
(4)  9:00 a.m. and 5:00 p-m.
S WiHfae W 1:oommmﬁmmm:rﬁa#sowﬁanam._éuﬂia‘ﬁmi 1 T W 2
(1) 5:00 A& qem 9:00 37oRrew
(2) 9:00 STHRIEF FT 5:00 YaiEA
(3)  5:00 3TET 7T 9:00 YarieA
(4)  9:00 YaTEA T 5:00 SUEA

45. While teaching in a Social Science class, a student asks you - ’how can we measure the distance
between longitudes on Equator ? What answer will be correct for such calculation ?

(1) Dividing the half length of Equator with 360.
(2) Dividing the double length of Equator with 90.
(3) Dividing the total length of Equator with 180.

(4) Dividing the total length of Equator with 360.

A fa7M 9eid g Fe 4 T B 319 ISdl € - ﬁ@a%@mmw%ﬂmﬁ%ﬁaﬁ@mw
4 %7 gFd € 2’ 39 A9 2g I ST el 8 ?

(1) Tagad Tar &t st e i 360 9 favfsid e
(2) fagaa Tan #t g e 190 | fasfom e
(3) fergaa T 1 ewang #1180 § fasfsia e
(4) faed Y &1 @ @1 360 @ fawifsid e

C

(% Scanned with OKEN Scanner

w0 ORI O a1



47.

(C) The vegetation cover is sparse in Velds,
(D)

Options :

(1)  Only (A), (C) and (D) are correct. N
(2 All(A), (B), (C) and (D) are correct’ | L)
(3) Only (A), (B) and (C) are correct.

(4)  Only (B), (C) and (D) are correct.

i
|

(D) aﬁﬂﬁﬂmﬁww%mmﬁﬁmm
faeey -

(1) 3 (A), (C) ¥on (D) et &

(2)  (A), (B) () e (D) wft wet £

(3) %9 (A), (B) a4l (C) Wt ¥
(4) %= (B), (C) 91 (D) Wt ¥

Which of the following is the correct sequence of rock cycle ?
(1) Magma, Metamorphic Rock, Sedimentary_Ro__ck

(2) Igneous Rock, Magma, Metamorphic Rock

(3) Sedimentary Rock, Metamorphic Rock, Maggla

(4) Igneous Rock, Metamorphic Rock, Sedimentary Rock
frefefaa 4 & e =% %1 et 7 F18 ?

(1) Hr1, wrrafia e, sEEe 9

(2) & Ye, Fy, FHEER S

() et ¥, wmEiaa e, J

(4) e die, wEiaRa de, s e

Velds lie in the Northern Hemisphere while Prairies in the Southern Hemisphere.

(% Scanned with OKEN Scanner



48 Who among the folk
: WG are elect .
(\) Ward member Mo members of the Local Governments ?

() Secretary (M) Panchayat President
' (1 Ward Councillop

Options
) \ \

:-:‘ t::,::?i ‘IR;'\E;&_“‘“}* (2 () () and (D) anly

Prah: . ILY M) Aand (D) only

T W QW ey g SR ey @ ?( i

l\.-\‘l ‘(‘i‘l@ ‘I’W (H) m\h

©) Iﬂﬁi“i () e g

(D) ¥ (A), (B) R (©) () W (A), (8) sh (D)
Q) FEE (A) ok (B) () W (A) 9 (D)

49, Di\"t‘l‘Si}'_\' came with something new and ditferent due to
(1) Similarities and identical traits (4)  Homogeneous population
(3) Intermixing of cultures () Genetic composition
ey & T ok orem S o ¥
(1) STel ol W ol & SR (2) Wi SEEE %
(3) Eepfadl & qroud o & wRor (1) SO TEE & R

50. Read the given Assertion (A) and Reason (R) statements and choose the appropriate option.
Assertion (A) : By the late 19 century, the cratt of iron smelting declined and in most villages,
furnaces fell into disuse.
Reason (R) : The iron smelters had to pay a very high tax to the Forest Department that reduced
their income.
Choose the correct option.
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
fow U SFUHYT (A) T8 ROT (R) 1 98 3R Sugset fosed g - )
YA (A) =it vraTee) ¥ 3id qe TN F WEH 1 el o va & T S stfrenter e H s

ST & TR |
ﬁamﬁﬁﬁwﬂwﬁmmwmmmﬁmm A FH

AN

&Nl (R) :

T faed 91 |

(1) (A) W@ & SAfeFA (R) e &1

2) (A) 3R (R) S T g

(3) (A)sﬁT(R)a’ﬁ‘iaﬁ’T%aﬂT(A)ﬁ(Rmﬁra:mm%‘

(4) (A)eﬂT(R)a’H’ias"r%%m(A)ﬁ(R)aﬁmmqﬁfm%I

43 G

RV [T
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o Consider the following statements on non-Brahman movement and choose the valid option :
(1) The movement came from non-Brahman castes that had acquir
() The movement argued thft\ﬂ'}e Aryans were the hdjgenous people.
() The movement came from non-Brahman castes with wealth and influence
l]]llulllﬁ H ek i:. ‘
( !1 Only (¢) is valid, lJ_')"T_) (2) Only (b) is valid.
() Only (a) and (¢) are Valid..\\ | @ Only (b) and (c) are valid.
1A RIS i et e 2 s 4 ey oy

(1) a?ﬂ(‘vl(c)'&ﬂ%l '(2)'%,1@(1,)51;%1
(%) %9 (a) 91K (o) Ay ¥ @) ) e dn

52. \-\:Hich of the following Statements are true about the development of cotton industries in the late
I8 and early 19th century colonised India ? |

(a) lndii.n textile industry had to, compete with British textiles in the European and American
markets. i -

(b)  British market was now av,aﬁ;ble for Indian textiles.
(¢)  Exporting textile goods to England became increasingly difficult.
(d)  Bengal weavers were worst hit as English and European companies stopped buying Indian

textile,
Options :
(1) () and (b) only (2) (c)and (d) only
(3 () ()and (d) only (4) (), (©) and (d) only

Wm%mﬁﬁmmﬁmﬂﬁWMﬁmﬂﬁmmﬁw

H frefafan § 3 2 | o g §2 i |

(a) ST ey S e e TR a4 fafe v e 4 s e ,

(b) R FE o ferw o fafew aT9R Sy o

(c) #US T TG 1 §rete ao Fraf FN AR e e

(d) e % g Ao S G g R S o it 3 s e e
ae & faan I/

fam: ‘

(1) %ad (a) 3 (b) y (2) HEd (c) 3R (d)

(3) %o (a), (c) #R (d) (4)  F (b), (c) 3 (d)
nll LTI 44
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53.

54.

1T T

Consider the followin

B Stateme
(A) : The Prairies aye S (&

) and ehaoss the corpe option

R) : Sci -3 : ;l'iillm'iun ol i ‘
(R) : Scientific methody of cultivation Sy,

I vime of 1y '
Options : ‘ ica a surplus oo pProducer, i lm:rf]{;" harvesters and combines has made
(D) (A) is true but (R) is false “
(2)  Both (A) and (R) are false .
(3) . Both (A) and (R) are true and (R) is the

i correct explanation of (A
(4) th (A) and (R) are true 4 i

: but (R) is not the corrdet axplanation of (A)

AL (A) I (R) W e et e el faen wn v afon

(A) : SRS g i ot sfer  w A o0 ST e '

(R) : e 3 e e i Sowen o ot it 5 i 4 efhoor staen 1 o e e
EEIREC IR i

Tawey .

(1) (A) && ® foreg (R) et ¥

(2) = (A) T (R) TeTd # |

(3) T (A) @ (R) WEl &, @l (R), (A) I well e )

(4) < (A) T (R) W& E, b (R), (A) H) ol o @ )

Which of the following is true about common property résources ?
(A) These are owned by government.
(B) These are owned by private companies.

(C) These are owned by communities.

Options :

(1) Only (B) and (O) (2) Only (A) and (C)
(3) Only (A) and (B) (4) Only (B)

Treht st e o o e | I el @7

(A) = T G I I e €|
(B) o T st et o6 e A €|
(©) ﬁmmﬂﬁﬂa@m%l

faerea :
1) @@ O () e )
() e ()4 (6) i/ 7o

45

(¥ Scanned with OKEN Scanner



. Which of the following Kingdoms was established by Ka ba M

57.

58.

.

ol a
(1) Gujarat (2) Ma, dhya PradESh YﬂIaSharman ?

(3) Karnataka (4) Ra]'aSthan
Freferfard 3§ S W e o i ey o ?
(1) TS ) iml‘ L

- —

On which of the fouow-mg s @ ,-"
opposition to the ‘Rowlatt Acgy ). 22Ked the Indian people to cbserve o day of o
(1) 15 December 1919 o) ’#6[) e

(3) 6 April 1919 _ 6 December 1919

(1) Inequality - (2) Dispossession (3) Hierarchy (4) Diversification
T el =i weed et & wr fomeht = i T A HEE SR ST T B0 W e st
(1)  FEwEm (@) e () srE (4) fafasfem

World Environment Day is celebrated every;;a;_; on which one of the following days ?
(1) 5% July () 5™ August  (3) 5t May (4) 5t June
frefafed § | f5g far geie o yaier feaq mmn s 22

(1) 5. (2) 53T (3 57 (4) 5

Maps can be best used for o
(1)  Studying lives of people living in different times in a logical sequence
(2) Marking places where people have lived at different points in history

(3) Arranging sequence of events in history
(4)  Elaborating on the most important events in history

qFfe 1 T gEErel e B 9 e fer & gk €2
1) e TEA T TEd el @l & Site i ahd T § et T

(
(2) <frrare 31T 37e WHA H Ted a1 At & T w0 fafed F e
(3) = § weE @l HHIE T oY

(4)  zfoerd § g S Sl i o F B

4

P=XT 00O 46
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Agrienttural Practices Descripti
Deacription

V) Sulbsistence 1t Arming i p
\h.\ Lo lve Subsistence Agriculture - \1.,“:‘“:“1_ l;o Al the B e om Ty
& g Cultivation .Prt W: i ﬂ-:e e
‘“\m‘ L & e . - eople and animals move from place to place
() and l
“ \) m~‘ (;: (2) All (A), (B) and (C)
3 \ (4)(B) and ()
a SR\ "1“1 adl il ¥ 2 T
auiy
(A) 1-‘4313 am e iR snaveEde w g H0 ¥ fo 5 o 2
(B) s Prade §fy L e A A e A
(©) Wi $iv o efi ol Y] U T @ R T ST €
L RS SR HIE
1) (A ™) (2) (A, (B) 3T (C) &t
(3) (A) T (B) (4)- (B) 9= (C)

61. Match the following and choose the correct option.

A B
(A) Narration charts (i)  steps ina process
(i) data in the form of table
(C) Flow charts (iti) historical development
(D) Tabulation charts (iv) show cause-and-effect relationships
(1) (AGv). (B)-(i), (O D)) @ (A, - (©)-(iv), (D))
() (A)), B)-Gv). (©-0) (O ) (@) (A)-Gv), (B (C-0) (D)-(iid)

ﬁmmﬁaﬁﬁaﬂtuﬁﬁmm?ﬁaﬁ’
B

(i) R & =

(B) Relationship charts

A

(A) faaror 9

(B) Hay AR (i) feren % &9 H ST

(€) TR (i) Tfererfees fochr

(D) TR e (iv) e il Y S ¥ i
@) (A)-Gi), (B)-(id). (©)- (iv), (O)-0)

(1) (A)-iv), (B)-Gi) (©)-(ii), (D)-0)
@) (A, B)-v) (©)-(i), (D)) (4)  (A)-iv), (B)-() (©)-(i), ()-({)
¢

g &
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62. Nelson Mandela s

() () o (B) BT %

Sl T -
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64. Which of the following questions assess the evaluation aspect of cognitive abilities ?

A L] . s .
(A) Eosha.n Abhiyan is an important programme to improve the nutrition level of Indian children.
xamine the statement with evidences.

®) Cof nig rule. in India for two eenturies left India with irreversible social change in India. Do
you agree with this statement ? Explain.

(C) Deseribe the important feah;fé"s;j of Jan Dhan Yojana.

(D) tov_'erty and unemployment mIndIa has declined in the post 1991 India. Justify this statement.

Opi_ 3'3:
(1)  Only (B), (C) and (D) (2) Only (C) and (D)
(3) Only (A) and (B) (4) Only (A), (B) and (C)

ffortan & @ wiH U WA WA &I % qedishd T8 i sl € 2

(A) H9 FREE ST S 35 T T ] G 3 U Fee eshe € | e ed Fo b S
wHifer |

(B) < v 3 v A Y 3 o 5 s e e 1 fe 6 o fen &1
wmwwﬁm%?maﬁiﬁm

(C) = uA A Feqet ferdraaed < v e |
(D) 1991 %mﬁwﬁmakéﬁﬁnr&ﬁmza@%lwmaﬂﬁmmﬁml

faweq :
(1) & (B), (C) ¥ (D) (2) e (C) 3 (D)
(3) A (A) T (B) Ly @ FEE@) @O

65. A belief that science requires a technical mind and girls and women are not capable of dealing
with technical things signifies :

(1) Illiteracy (2) Ignorance (3) Stereotype (4) Casteism

@W%ﬁm%mwaﬁﬁﬁmﬁmaﬁ%ﬁtmﬁwmﬁmaﬁﬁ
Fre  Gam T €, FE S e

(1) Foreeman (2) AR (3) wfgeg uon - (4) S
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i % q OWi 1

A) From S N e
k‘lllm‘m ) 8 OPtinn.nmm | ED) From Analysis to Synthesis
( ) and (D

O @B wde @ (&) @ and (0)

S , ‘@) (B), (©) and (D)

4 q "

o N ey Faferat s forsm & o @ R @ TR T (Froe) ¥ waE §2

(‘0 - f} i (B) ifew & W A

( E@Iﬂﬂ? (D) foveror § Hyeis T
W T ® v i

0 (A) © W (D) @) (A), (B) 3R (D)

@ (@) B W (©) @ (@) © M)

69. The objective of establishing Panchayati Raj institutions in India was to achieve
(A) Participatory governance (B) Cultural homogeneity
(C) Democratic decentralization (D) Religious diversity
Choose the correct option.

) ©Qad(® (@ @and(© () @and® @ Band(©

YRE ¥ TEEd TS GE] ST T 6 S IqTSd T o)
(A) TewIRT 81 A (B) Wiwpfas THedd (FHIT)
(C) Tiwaiih i (D) snfiis fafasm

T faseg %1 997 JiNT|

1) (C) WD) 2 (A)R©Q (3) (A) 3R (B) @) (B)3R(Q)

casual workers because

70. Small workshops and factories prefer to employ
(A) state has already taken care of workers’ benefits
(B) they can be fired without any prior notice
(C) most of them are not literate
(D) they could be paid lowest possible wages

Options :
1) ©and(® (@ (A)and © ) @®ad@® & @and (D)
St FrEEE AR s At o Ao 3 # e S € 1

@ @WkO O @ dr@ @ @O

G
prr (W R

(¥ Scanned with OKEN Scanner



71.

~3
5]

73.

P11

In a field trip which is the first s [ to be d

(1) Experimentation skill .,-f' @ R J
(3) Analytical skill @) .
T S & ferg foremfef ﬁ’ ﬁm Fre

(3) fawEw SR @ @

Which of the following emerged as an in P
nineteenth century ? _

(1) Hinduism () Islam
(1) Fs= 2) wT=™

Select the reason behind the low wages
(1) Most of them do not have their own
(2) They are satisfied with wages prevail

.

(3) They are not skilled.

(4) They depend on land owners for a re

Effer Torgdl I & S STl 9 TGy o HR0
(1) =7 § e A o 919 7oAt Sl e
(2) 3 3eR ¥ fid @ aeigd @ gqe gl
(3) 9T T A

(4) 9w Frafid wm o fo yfi wfesi =

Which would be the best teaching pedago
and Union Territories ? |

(1) Secondary data analysis (2) ‘
(3)  Field trip (4)

AT T S S wae 8 fredar w9
AT Y F wt Adt 2

(1) fodtae e =1 favemo 2)
(3) &= yam @)

LTI
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‘5. Consider the follow;
Ing statemeuts (A)
and (B).

(A) The G
OVernment of India Act 1909, allowed f,
or so

me e ; i
lected representation system in India.

B) !
( T ugh Government of India Act 1909

§ all adult i :

Choose correct option > Were given the right to voe,

(1) YW (A) and (B o
(B) are true : (2) Neither (A) nor (B) is true

(3) : :
\ * (A) is true | (4) Only (B) is true
= T (A) T (B)ﬁqﬁ?{l

) 1909 TRt st et e 4 7 o e e s ot s s
(B) '1909ﬁ?ﬁaﬁﬁaaﬁtﬁﬁém@ﬁmwﬁaawﬁﬁaﬁz@aﬁmafwﬁ:mW|

W& foshew =1 w9 #ifvm

(1) (A) 71 (B) S W&t & (2) TI(A) TE R 3R A& (B) R R

(3) el (A) W ¥ (4) e (B) WE €

76. The Independence of Judiciary implies :

the judiciary can direct the executive to implement the laws properly.
the judiciary can work under the pressure of legislature, if required.

the Iegislat-ure and the executive cannot interfere in the work of the judiciary.

(4) the judiciary can direct the legislature to frame appropriate laws.

=reaiferenT 1 EasAl QU ¢ :
e, SRR 1 T T A B e w1 S w3
3 STAYA €l dl AT, ferenferat % <o § M L Fehd ¢ |

ﬁmﬁmaﬂimﬁqﬁmmﬂm%mﬁméﬂﬁﬂm%l
< T €

(1)

Wﬁmﬁmwﬂﬁwmmﬁﬁ

53
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(A) What if; the soutl;ernmost part of the Hl'malq‘i@ i
(B) Is the Sun a star ? Why ?

(C) Why does more population reside in the Nogc\;‘lm plains 7

etween which L B,
g:tioist: = two countries is the Pak W ! }. reaty located ?
(1) (A), (B), (C) and (D) @ .}.r
(3) (B) and (C) % (g)) only |
F&1 H 787 SR 10 T 71 & | 39 | goq fore

AT F 9T 3

(A) m%mﬁmmaﬁme%r .
(B) = Y U AR &2 Hif 2 . i

(©) 30 e § stk S fiare #i w49
(D) ww@ﬁ:mam%mm%?_

n) 4. ), () ohi () F o=
6) (@) R(©Q it @ T @)

78. Which of the following questions promote critical thmkmg ?

(A)  What are the different ways through which the Government can take steps to provide
healthcare for all ? Discuss.

(B) Examine the statement : As compared to Amazon, pollution in river Ganga will affect human
life greatly. = W

(C) Differentiate between the physiography of Brazil and India.

(D) Describe important features of Himalayas.

(E)  What was the role of the Zamindar in Mughal administration ?

Options : -
(1) Only (A), (B), (C) and (D) (2) Only (B), (C), (D) and (E)
(3)  Only (A) and (B) (4) Only (B) and (C)

ﬁﬁ%@aﬁﬁﬁ?ﬁwmﬁmﬁﬁ%ﬁzﬁﬁ;?? _

(A) 'ﬁfwaﬂ%w%ﬁrﬁmwnﬁaﬁﬁﬁqmmm%@mmmpﬁ_
it |

(B) Wﬁmﬁﬁmﬁﬁmw%%ﬂwwﬁmmlwaﬁﬁam:

©) 7 o Y o A AT

(D) fermem #1 waeayo ferdioaiati o1 oo AL o

(E) g1 yomem & rdfer a1 yfem an et LN

famwey .
) % (a), @), (©) ok (D) @) %@ (B), (O, O) 3 (©)
) %@ (a) sir (p) (4) e (B) 3 (C)

P- [ } !"' Ve
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¥ »
Slaahalll L1 L TR ——

: _ | i feat

: mwﬂmmt%ﬁmmw? e T w5 ud €

() e RETHIR L

) e e (4) st s

Consider the statements (A) and (B) and choose the correct option of the following,

Statement (A) : Summative assessment monitors the learner’s progress throughout the teaching-
!t'ﬂmlng process

Statement (B) : Formative assessment i conducted at the end of the course.
(1) (A) is true but (B) is false

(2) (A) is false but (B) is true

(3) Both (A) and (B) are true.

(4) Both (A) and (B) are false.

YA (A) 3R (B) W famn #ifay aa Frafafas 9 8 wf feses = a sifa)

WA (A) : VIR e, oww-SOPPNIEE % T 0 30 5 Al 0 W o
U (B) : T B TeTHR F i H € ¥

(1) (A) 9@ & T (B) T &1 r

(2) (A) T & T (B) A R k

(3)  (A) iR (B) Sl W& T

(4)  (A) sl (B) Sl e ¥

' 55
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81.

Using dialogue between stu

Ugi;ng drama in the

(A) It helps students to
(B) Itallows students to g
(C) It helps students me
(D) It prepare é-‘-'i- 1
(E) It promotes probl_ -solvi
Choose the correct opl:iél
(1) Only (A), (B), (C) a

Only (4) and (B)

1) % (A), B), (C) oI (B)
() (A) & (B)

P.
11 A

(3 scanned with OKEN Scanner




Sixty-Pe i

(A)  Writing skills only
(B) | Tapersonal skills
:.' thmkmg and creative skills
Aon and presentation skills

teacher o€ :
S o wammt l:l.tl‘ ltt) Iupun ended questions in a Social Science question
O testamong students through this strategy ?

3{ ‘*Eg;i O(EI) only (2) (B), (C) and (D) only
Y ¥ ; (4) (C) and (D) only
% fowm & wed yx [ 60% MR il T A weAl &
W - feen e &1 g9 Hifq % meam @
TG PN

(©) i T & gorers Sive
(D) STITANIHS T W e

IEC TR i
(1) = (), (B) 3 (Q) (2) e (B), (C) SR (D)
(3) Saw (A) 3R (B) 4) Faa (C) 3l (D)

Which one of the following statements is correct regarding the nature of Social Science ?

(A) Social Science is a dynamic subject that generates debate and discussion.
(B) In Social Science only individual human relations are considered and not the accounts of

©

(D)

individual actions.
Social Science is primarily interdisciplinary subject with a focus on discovery and

experimentation.
The scope of Social Science is very narrow and hence it is fit to teach it only at the primary

level.
Options :
(1) (A), (B) and (C) only (2) (A)and (B) only
(3) (A) and (C) only (4) (O and (D) only
urmﬁmﬁaﬁﬁwﬁwﬁl%ﬁéuﬁﬁmﬁﬁ?mmwuﬁ%?
e fare @i afteral 1 I F e

(A) WW@WW%E’T
(B) mmﬁmmmﬂﬂﬁﬁmmmmhﬁﬁmmﬂ%ﬁ@m«

feram faan S © |
(C) wﬁﬁmﬁg@mﬁmﬁﬂﬁ%ﬁwiﬁm@‘m 3 W R
D) mmmmmam%mwmm@mmmmamm

(
faaneyd :
(1) %@ (A), (B) F(O) 2) ah'“WP:)E'T*‘[(B)
(3) Faa (A) H(C) (4) A (C) (D)
57 G
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Status of Women in pre:

Reasons for population .

P. ¥
T
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87. A teacherr wan
ts stud
ents to understand the functioning of governmental bodies like Vill
e 1 age

Panchayat. Which
J : of :
l.m‘orlgati_; : the following source of data collection will provide first-hand and authentic

(1) Biograp

21 | (2)  Textbook
FSpaper ;rhcles (4)  Field trip
&l € o o W d=m SR W e % s Frefefaa
1 .- q’ﬁ . (
a?m&ta?ﬂumﬁmwmmm? g i

(2)  HRSIYEH
(4) eI 9T

88. The tee 4 ivi i :
SOLIESCI{;} “:htwdes the ch1ld-ren of her class into 4 groups and gives them to write the names of the
e/t ater a'nd then discusses the sources of water with each group. Which of the following

she is attempting first as part of 5E approach to lesson plan ?

(1) Explain (2) Engage (3) Explore (4)
ﬁTﬁ‘ﬁIaﬁmﬁ:aﬁﬁﬁ4wﬁﬁwﬁaaﬂ%m%sﬁi#wﬁ@ﬁﬁﬁ%ﬁmﬂ%mm
:Eﬁﬂm%ﬁﬁﬁmaﬁmﬂ%mﬁm%séw%maﬁﬁﬂﬁﬁﬁwmmm
(1) fo=r ST 2 Fem e () FEEEHET (@) e B

Evaluate

How can a Social Studies teacher develop social values among students ? |

(i) Developing sense of discipline
(i) Behaving in the appropriate manner in school/class

(iii) Asking Students to watch commercial movies

(iv) Follow appropriate d_emocratic values in class/school setting

Choose the correct option.

(1) Only (i), (ii) and (iv)

() Only (i) and (v)
(4) Only (), (i) and (i)

(3) Only (i) and (ifi)
@mﬁ%ﬁmﬁ%ﬁ@ﬁﬁﬁmw_mwﬁmmm%?
(i) Wm%mﬂﬁmm
(ii) qawﬁmwwﬁmm
(i) ﬁafdﬂaﬁmﬁqmﬁm%aﬁﬁmm
(iv) aﬁ&ﬂ/@ﬂqﬁawﬁmgaaeﬁeﬁam@mwm
uﬁﬁmwwﬁn

i (2) Fad (iii) 3 (1v)
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9(). £
prc wedures ¢

(A) Confirm with the values enshtined in the Indian Constituti
(B) Examination should involve mainly summative assessment
(C) Development of the phys:ca] a'B:htles of learners to the fullest extent r

.

Options : i
(1) (A) and (B) only

(2)  (A) and (C) only

(3) (A), (B) and (C) only
(4)  (A), () and (D) only

mﬁﬁmwwﬁmmmafm 2009 % Hewris % faferdl & v & w9 ¥ faer ‘
TR ? ,

(A) Wvﬁmﬁwﬁmﬁatgﬂnwaﬁqﬁmm

(B) qﬁwﬁg@mmaﬁﬁ#%mmmw
(C) faenffdi =i wrdifter erwansdi =1 qof W qe o

(D) qﬁaﬁ@vvﬁmﬁé@aﬁ |

(1) %0 (A) 3R (B) v

(2) e (A) 3R (C)

3) s (), (B) )

(4) = (A), (C) ¥R (D)

P A "

(3 scanned with OKEN Scanner



